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81819 Continents- 7

Areawise
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81819 Continents- 7

Populationwise
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Q.1 1° latitude 1s equal to approximately

1° 37eTTST T Toreft, o SIeL BidT &

—

/ YA
4 S

1© ST T 111 ToRHT. (69
TieT) & SITe BiaT 2.
* 1° latitude 1s about 111 km. (69

miles).

km.

S.S.C. ST CHSL (T-I) 16 3RS, 2020 (I11- HTedT)

N7

__“(a) 122

A (b) 145
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Q.2 What 1s the term used to describe the angular distance of a place north or south

of Earth's equator?

el eh! T T o IT AT EFRT07 oh T i Shivfier gt oh1 S0 i o fef foher 3158 1
AN foR3IT STt 22 S.S.C. HAAET HTash T (T-1) 10 S, 2019 (111- UTedT)

' (a) Latitude / 3T&1
(b) Hemisphere / TS,
(c) Pole/gd
) Longitude/%{ifﬁﬂ?
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* geofl Sl YHET W@l o IL AT S&I0T o €A hl

<hIufiEr T T U i o fIT 37efier Sise
ST foRaT STIAT 81 forerd a0 | gl deh feord et
G Il hl STEIET TETE ST ST

® The term latitude 1s used to describe the

angular distance of a location north or south of

the Earth's equator. All parallel circles from
the equator to the poles are called latitude
lines.
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Q.3 What 1s the area between the Tropic of Cancer and the Tropic of Capricorn?

LT AT bt LT oh sir ohl &1L T &7
\/(a) Temperate zone/ IS Shicsier
& \/ﬁ)) Cold tropics/2iid Hicae

iy /(%) Troplcs/B’GUT @
& _d) None of these/3TH & &g Tal
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. . 1
* I FHicad T IR ST H hen @1 (23="

ST TAMRT) qAT 0T | HAL L@l (2350
gfequf} S7eTieT) o W o & H B

®* The extension of the tropics is in the area

1
between the Tropic of Cancer (2350 north
latitude) in the north and the Tropic of

1
Capricorn (2350 south latitude) in the south.
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Q.4 What does 90 degrees north latitude represent?
90 3731 T /\wmwamﬁ%?

S.S.C. AT MTS (T-1) 17 T8csx 2017

—

M

/(a) South pole/ feor qd
( North pole/3Tr ¢4

Y e
C) Equatorf%ﬂﬁl?f EN

d) South Pole (Antarctic) Circle/
&7 ¢ (372T(Eh) I
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* 0° I I @ I Y hl TR0 ALl
2, STefsh 90° STequll 3TeaieT T@m Sfeolt ga
1 STid] 2l

®* The 0° North Latitude Line represents
the North Pole, while the 90° South
Latitude Line represents the South Pole.
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1, . :
Q.5 2350 AT gfeTof} 7eTTRT AT ST &7
1
What does 2350 degrees south latitude represent?
o /cy
(M/ /(a) Tropic of Cancer/&eh (@1 ’L'atf XS
P

\LLa»J

/eb)gr:)pic of Capricorn/ Hehd @l
c)

rth Pole (Arctic Circle)/3tX gd
(HATehideh ) .

C )/2@'\)
/ (d) South Pole (Antartic Circle)/aferor
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Q.6 What 1s the value of the Prime meridian?
Htlj@l <’-I|1-<’-{\|1'|‘\ nl HiA ol %?

/ S.S.C. AT MTS (T-1) 6 AFSR, 2017

/(a) 0° Latitude/0° 3T&TT=T

/ bQO Long1tude/0° )

) 180° Longitude/180° 23TidT
/d) 180° Latitude/ 180° 3T&iST
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* TIQ TR <hT {9 0° 29T7d 21 0° 3T&JTST <hl

feIer T T 180° SR ol 'S Tl
@ FEd © |
®* The value of the principal meridian 1s 0°
longitude. 0° latitude 1s called the equator

and 180° longitude 1s called the
'International Date Line'.
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Q.7 The distance between two longitudes at the equator 1s approximately km.
HEY T 0T ST STl o sftel <l gl e . 2
S S.S.C. AT HTdeh T (T-1) 11 &, 2017 (11- Tt
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o I AT SreAult ga ol THAT STel @ i qRia

@ hed & | I T T a1 SR o e A
ST 111.32 foreft, @)

®* The line joining the North and South Pole is
called the Line of Longitude. The distance

between two longitudes at the equator 1s about
111.32 km.
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Q.8 What 1s the reason for the change of seasons on the earth?

et o ﬂsgléﬁ T UTCaa foRe ShTLoT BT 27
/ S.S.C. AT MTS (T-I) 21 f&dsr), 2017 (11- Irefh)

€) E'[\Ui:f/Rotation

/ (b{W/RGVO@

/ © Eliﬁ? T UThATT HI/Both Rotation

/ and Revolution
i ) SUh H ¥ &hls Tal /None of the

above
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* qofT T T 78T W T AT ST TTCHATT T

/ o hIOT A9 IRaad gt gl —
®* Weather changes occur due to the tilt of the

earth on 1ts axis and its rotation speed.
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Q.9 What does 662 degrees south latitude represent?

665 I SF&Tull STETTRT AT SITTAT &2
/ S.S.C. AT MTS (T-I) 21 s’ 2017 (11- ITeih)

() ohOR\{{gll/Tropic of Cancer
/ (b) WL T@T/Tropic of Capricorn

(c) ST ¢ (3ATehiceh) Ixi/North Pole
(Arctic) Circle

/ d Waidlﬁoh) Jx/South Pole
(Antarctic) circle
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* 66V, I IfEAU(T SFeATET, IM&TUN ¢a (3HeTideh) I
RIAT 21 66 M I ST IT L (IATehioh)
I IIAT 8l 23Y ST AL AT Feh @1 T
23V ST STEITIT WL LT ST 2

® 66’4 degrees south latitude represents the South
Pole (Antarctic) circle. 66% degrees north
latitude represents the North Pole (Arctic)
circle. 23% degrees north latitude shows the
Tropic of Cancer and 23 degrees latitude the
Tropic of Capricorn.
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Q.10 Which 1s the only continent through the Tropic of Cancer, the Equator and the

Tropic of Capricorn Pass?

-8 THHTA TRT51Y &, FSTae gt ek, forerd e Hert (@ TSIl & 2
/ S.S.C. AT MTS (T-I) 21 f&ds), 2017 (11- Ireih)
H/W
() Australia/3] E,
éb) South America/ﬁ’f\ &70T ST
©) Asia/TRT

—1d) Africa/3TshihT
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® STORIEHT, THHTH HETalY o, TSTe® ekt ook, Torgerd qem

HeRt @ TSIdT = SHTELCTAT § sheled Hehd 1T, i&oT
AT & foeid T Hert {1 qT TRMET | heh T

(@ N\ 0 ¢
ELrERRCIRISIGIR
) )

® Africa 1s the only continent through which the
Tropic of Cancer, Equator and Capricorn passes.
Only the Tropic of Capricorn passes through
Australia, the equator and the Tropic of Capricorn
from South America and the Tropic of Cancer and
the equator pass through Asia.




Q.11 Earth rotates by what degree in four minutes?
qedt =R fiee | fohd 3137 = STt 82
S.S.C. SATAET MTS (T-I) 14 TFST, 2017 (11- TTedt)

(a) 4°
(b) 10°
(c) 36°
(d) 1°




e goafl IR fiFe | 1° ¥ ST 81 369 YRR 24

£ qea 360° A 2

® The Earth rotates 1° in four minutes. Thus
the earth rotates 360° in 24 hours.
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Q.12 Whole Earth experiences equal days and equal nights on which dates?

Ot geaft oX fore Tater oht T Tl fof s gid &2
S.S.C. SATAET MTS (T-I) 14 SFSR, 2017 (11- TTedt)

(a) 21 March and 23 July/21 qrel qeT 23 \_zlffl'l'sc

(b) 21 July and 23 September/21 3\|§|’|’§H94T 23 THdeR

(c) 21 March and 23 September/21 qrel a7 23 Tadsr
(d) 22 December and 21 March/22 [GGsR qm 21 AT
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Q.13 When does the sun shine vertically on the Equator?

T Y @1 I HEATEL el THhAT 272

S.S.C. AMATET H1aeh Tl (T-1) 10 f&ds), 2016 (11-9Te)

(a) Throughout the year / ‘33 CL|
(b) For six months / : HIE

(c) Twice a year / a9 U g 91
(d) Once a year/ a9 U Ueh 9K




Q.14 Longest day in the Northern hemisphere 1s
IR AT, ohl a8 eIl fa hi-a7 87
S.S.C. 3THeET CHSL (T-1) 8 SHat, 2017 (1-9Teit)

(a) 21st March/ 21 Tl

(b) 21st September / 21 fade
(c) 21st June / 21 S[d

(d) 21st April/21 3T




Q.15 Shortest day in the Northern hemisphere is :
3 MelTs, § ol BieT fad ST 2-
S.S.C. AT CHSL (T-1) 9 SHal, 2017 (IT1-4Tet)

(a) 22nd November / 22 9K
(b) 22nd December/22 TGHsT
(¢) 22nd March/22 9=l

(d) 22nd June/22 S{H




Home Work Question — Earth (13/06/2023)

The longitude distance for an interval of two hours will be equal to
31 5i¢ oh AT oh foTT il gt o SIS BT |
S.S.C. AT C.P.0O.S.L (T-1) 7 ST, 2017 (1-9Ted)

(a) 15°
(b) 30°
(c) 45°
(d) 60°
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® 1° QT 2l g T A § q2all =Rl 4 T 1 GHT 1 € | 31 2
5 379t 120 fore % S o TeTu 30° QeTier sht gl 3Tuferd 2 |

® The Earth takes 4 minutes to travel a distance of 1° of

longitude. Therefore, a distance of 30° longitude is required for
an interval of 2 hours 1.e. 120 minutes.




